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VI Semester B.Com. Examination, April/May 2019
(Scheme: RS 16-17) (Freshers of April/May 2019 and onwards)
MARKETING MANAGEMENT

Time : 3 Hours Max. Marks : 80
Instruction:  Answer all parts.

DR PRNNPNL LVS0X.

PART-A

ALY o )
Answer any two questions. Each question carries 20 marks.

030YTOTTR NTW JFRYR L0BOX. BS IJ 20 LOTNSL.
(0))) Define Marketing. Explain the functions of marketing.

mdosééoio méméswab& 2300 mag :mdo'o%zofo saojarmﬂmol &Dz@pmf\
230N0.

02) What is Packing? Write the advantages and the requisite of good package.

nod 5&3&&3% OTTENY? ﬁow%%&%oda OBROZNDL ) zo%ojo NoeR
5&3%&3603) BIRTTOBID), 203B0WD.

PT.O.
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03) What is Tourism Marketing Mix? Explain the 7p’s involved in it.

ToARE [WDTY N 20BBeRH? . Tp’ WIRT Wit AVTTTON
2T0WD.

04) What is advertising? Write the features and Advantages of Advertising.

2308 CTO) NOTTERN?9 2308 TS @isarﬁeéa B @'&5@@371@553& 2 BOND.

PART-B

WRN-W
Answer any two questions.each question carries 10 marks.
QCRPYTRTWTR TR TIJNOR IO, TS TZR 10 ©0oINW.
05) Explain the importance of retail Industry.
BT TR0 NTIT TRNDIB0D 1 223c00.

Q6) Define ‘brand’ state the features of good brand.

SOTOD T3S FRR w0 ¢ BNBOD OTNIRY, ToN0.

07) Explain the Hospital Marketing Mix.

©FE BRWTL DBFBHROD NJFITI, DFTTN WICWD.

08) What is product life cycle? Explain various steps involved in product life
cycle.

W, BeRIT BF Q0TTeD? I YOTT, BeBdI ¥IT DG JoINTI,
DWOA.
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Answer any four questions. Each question carries 5 marks.

PR TTTR T, TINOR w30, T TIN5 wosnsw.

09) Write a note on grading.
BINECFTeT3 W7 83388 030w0.

Q10)What is Advertisement copy.
BTOD T3 20T

Q11)Write a note on event management.
ABIOTOLT ATEBHBOD ALy e33e8 2080%00.

Q12)Write a note on career opportunities in Retail Sector.
WYY vEed NTRTY, NTRENT ©[53NY 21y 20800,

Q13)Write a note on Labelling.
See® SRBDFYTS Wi T3 23owo.

Q14)Write the attritbutes of a product.
YOI OFLNTR, 228000.
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VI Semester B.Com. Examination, April/May 2019
(Scheme: R.S. 16-17) (Freshers of April/May 2019 & onwards)
COMMERCE
Quantitative Techniques - I1

Time : 3 Hours Max. Marks : 80
Instruction: 1) Answer all parts.

DER GRNNYNRL VIO

PART-A

WRN—

Answer any Four questions. Each question carries 10 marks: [4></L0=40]
O3B TR 4 TJJNER YZoA. T3 BIR 10 ©oBNSH.

Q1) The department of transportation surveyed 1,00,000 people to determine their
use of different modes of public transportation during the past years. The
results of the survey indicated that 25,000 people are travelled by Airplanes,
41,000 people are travelled by Buses, 20,000 people are travelled by Trains.
7,000 people used both Airplanes and Buses, 9,000 people used both Buses
and Trains, 8,000 people used both Airplanes and Trains and 5,000 people
have used all the three modes of public transportation.

Determine the percentage of respondents.
a) Who used only one mode of Public transportation.
b) Did not use any of the three modes.

Show by venn Diagram

PT.O.
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0N YRS 3BT JRENYY TOTE LT TORCD DT AOING u@ioﬁaa‘o
APFOID  1,00,000 mdm Nei)aeé TRE. Né)aeéoda FOZ00INL ée
3$30B03 Q3.

25,000 BJT DBPING @PRO3, 41,000 I WATY Tore 20,000 RFTH
6@3@ waméﬁoémd 7,000 &35 OTIPI mma 2ANTY, 9,000 2RI
wﬁoﬁ@a Tonwe 8@071%5@ 8,000 &330 THT TN 8@37#@?@ wodsoeéquod
mma 5,000 zsddo mco TORF BT *wﬁmﬁm w%md

Q) Jeswo WD, TOIIPEFFD, BeBO 2O VORI *a@ﬁojssa WFATOZVT?

Q) 3Besmo DT TO3WEIBD, OB ATORT  TOOROD *’mewm
&)%ﬁvdb@@@‘?

R agg‘;ods TROTFT 30003

02)1tU={1,2,3,4,5,6,7,8,9, 10}
A={1,2,3,4}
B={3,4,5,6}
C={2,4,6, 8}
Prove that \
a) ANB-C)=(AnB)-(ANC)
b) (A-B)U(B-A)=(AUB)-(ANB)
c) A-(A-B)=(AnB)
d) (AuB)=(A'nB)
€ A'-B
U=1{1,2,3,4,5,6,7,8,9, 10}
A=1{l1,2,3,4}

B=1{3,4,5,6)
C=1{2,4,6,8) =3
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Q3)

04)

Q5)

Q) ANB-C)=(AnB)-(AnC)

Q) (A-B)Uu(B-A)=(AUB)-(ANB)
3) A-(A-B)=(AnB)

&) (AuB)=(A'nB’)

Q) A'-B

Find the number of ways of selecting a cricket team of 11 including at least 3
bowlers, and at least 2 wicket keepers, out of 13 players, which includes 4
bowlers and 3 wicket keepers.

2,83 13 ®TT $3F $wMTSY, 4 WPOTT, DB 3 QFEF FITNVW, TAF
3 ROT BB TIF QYD DT $eTTNRYNT, 11 BIT $FF 0TI
e:sos% BRTWR APOING ?30@3?30336391 FOTILROND.

There are three persons namely x, y and z for a General Manager post in a
Ltd. Co., and their chance of being selected for the post are in the ratio of
6:4:3.

The probability that new product is launched by 3 people, if they are appointed
as General Manager, are 0.5, 0.7 and 0.4 respectively. What is the probability
that the new product will be launched by the new general manager?

200D AN FOTIOD FOWIT, mééeasof BR X, Y, Z 202 &RBD
BINT, @0, BRI ©B[F3 6:4:3 T ODTRITOT. BT AT,
BRIJewOT &N SETTRROB, HBRA WIT, WY, BTORPTWTIWT
ROPWICOD3030 Fdwon 0.5, 0.7 DB 0,4 SNIW. MY, BRA
BRIV abaéﬁeasof TRT YOBTB/IY, RTNE BRRBE FOLRNCONZ AT

The life time of a certain type of beittery has a mean life of 400 hrs and
S.D.(c) = 50 hrs.

Assuming normality for the distribution of the lifetime of battery find the
following:

a) The percentage of the batteries that have a lifetime between 300-500 hrs.
b) The percentage of the batteries that have a lifetime of morethan 350 hrs.
c) The percentage of the batteries that have a lifetime of below 550 hrs.
d) The percentage of the batteries that have a lifetime of above 480 hrs.
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3O 0e8od LR L30NT FToAD 400 RoLNy 22ezo @modm moam
TR0E3T aas@s S0 nownwaNHET. 2RUONY z%eob@w@ofm wms
NITHORY [T QO m@»%@%ﬁmﬂd TOMOTT. B é%océ@mﬁm
50653806@0306

2)

2)

&)

300 00T 500 Rot3ng IO a%eé)aod@odam BRODTE mé&@rﬁ%ﬂ
aﬁe%maﬁa’n FOTWHROWO.

350 Ro&nenozg «HI=on ﬁea@wéo:bab BROQTTI 2RLONY
5@5@553 O EBOWD.

550 RoRYN03 3BDH aeammwm BRODTE mé&@ﬁ%ﬁ eﬁe%ma’sm
FOTEBOND.

480 MOBNRPN0OZ =&, 8@&3@363053& BROTS 233&3671%3
eﬁe%maﬁ& FOTLEROWO.

Q6) Nine persons sit in a row of 9 chairs. Find the total number of seating
arrangements if:

Three persons A, B and C sit together in a particular order.
Three persons A, B and C sit together in any order.
A and C occupies the end seats.

‘B’ always occupies the middle seat.

2,000 FRITYHT 9 DWFNYY, 9 ~TaloV 53@30&@%32053@366 WRT BIIT
wmosa &mﬁﬁ%ﬁm 50&%300@033@

D.W.A. DOV TR JINW 2,00 APFR ITY  wEit YD
SRR T

&

DA, POV TWRT FINT oSy e BT eotdf DINERNOTT.
@.0.3 VOUT SATNYI, BFRATRORT.
0’ O30 cdwmeReve DET SATTR, SB0ER0TS.
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PART-B

PAE) A et ¥

Answer any Four questions. Each question carries Five marks: [4%5=20]
O3RYTRTOL TR, TI NN GVZOR. BB TJ 5 WOFNW:

Q7)) IfA={a,d},B={b, c}, C={c, e}

Prove that :
a) (AxB)=z (BxA)
b) (AxB)N(AxC)

A={a,d},B={b,c},C={c, e}
STS, 81 FIOBRNYR, OO
) (AxB) =z (BxA)

W) (AxB)N(AxC)

08) In how many ways 4 digit number divisible by 5 may be formed out of the

09)

digits 0, 2, 3, 4, 5, 6, 7.

0,2,3,4,5,6,7 03NnP0T, 5 DOT oNmomm, SEISM) Slel low ’303325053:’34
BRJRL QW RJINEND @KQJ?

Two fair dice are rolled. Write the sample space & Find the probability that
a) Sum of the numbers on the dice is more than 06

b) Both the dice show the same number

c) First die shows even number

d) Both the dice show number 6

RO TRBATI, DFFOE LVILYTRONBY. 2O IO BRLITJI, WIT.
83 FINIYNON B0IBILODIONTY, FOREBOWD.

Q) NTBR JINBRAFYT BOLNY 2.3, B 06308 eR0ITTN.
W) I0BR INENLD 2.,00¢ FOB0D, 3ORET.
) RRTOZTOD JRBOIN A HOB0D, 30T,

~R) TR INAND 06 7\)’049323033?\3301 30T,

-5




21772 M-5629

Q10)A box contains 200 Apples. Out of which 40 are defective. Ten apples are
selected for inspection. Find the probability that

a)  All ten apples are good

b)  All ten apples are defective

2,00 FEdRodY 200 Beennwas, ORYINYY 40 Feeonisd Tovonss. SRBMon
10 A’emmﬁm& 6:503% JPTBONT. 38 3$NI xoaﬁsaeojoéodam& FOTHROND.
R) DY T Aeensh u%ododo.

D) QUp B Feeorisd Tovonss.

Q11)Find the probability that at most 5 defective bolts will be found in a box of
200 bolts, if it is known that 2% of such bolts are expected to be defective.
(Note: e*=10.0183)
3e. 2% B BRerLd CRETOINF SNTHII DOTD 390,200 ReF RO
CYXlenly) T S BRETRRD d@eaiojaoﬁmﬁdm m’oa:w2’0eodaz-é’o:iamgl
BFOTWOGEOND.

(ReeEt: e*=10.0183)

Q12)Write a note on sampling errors.
BRTO BING BOD €330e8 2080W00.

PART-C
RN

Answer any 10 questions. Each question carries 2 marks: [10x2=20]
O33R TTOTTR & TINeR YOBOR. T TR 2 03NSk,

Q13) a) Whatis null set? Give examples.
msé N Q0TBEN? NVTOBTHR 308,
b)  Write all the possible subsets of {2, 5, 7}.
{2,5,7} O oy mmm@m& 203000.
¢) Mention Demorgon’s law.
‘B [N S QODTVTZ, LITOWD.
d) Find the value of e A
'"P, +°P,3 ?,3630335530z FOWIEEOWD.

-6-
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e)

2

h)

),

k)

In how many ways 6 family members seating arrangements can be made
in a round dining table?

ST BED0L ATHD, oy oessY NRET, BRJWBTT, &X
wafw& &msmﬁa’p FODHBEWD.

F rom 6 Red and 4 Blue balls, in how many ways, 2 Red and 2 Blue balls
can be selected?

B3 Foz D 4 e QT BOBNYES. 2 Fozd DB 2 Jed 206973
aa’océamfm @m@ @msm@ SOBWTTONT

What are dependent events‘7

VDOOPT FLBATD H0B3en,

One card is drawn from a pack of 52 cards. What is the probability that
itisaking?

52 ASNEWT 2.0 RN D30T, 2,08 @@303333 3riodennds.
B 373 2iodn ‘Cos’ ﬁfﬂdm oaﬁaﬁ@eoﬁoe’oﬁom 5065380@0336

If P(A):— P(B)== and P(AﬁB)—— Find the probability of
P(AUB).

1
P(A):%,P(B)=3l TOTY P(AmB)=Z, $TT  P(AUB) SISPN

FOBIEBOWD.
Write the properties of Binomial distribution,
ARSEIAV VSN Tots o by rbsee%saﬁ@ém 2080200.

In a binomial distribution X — 192 and S.D. = 8 find ‘P’ and q.

ARSEIAVOW S WITRONY X = 19232 S.D. = 8 333 “p’ DB ‘q° SN
FORDEHLROND.

Write the properties of Normal distribution,

ROBPVT, DBTHOD rbsa%eamfm Alelovela)

List the advantages of samphng over complete enumeration or census,
“Tozpeor 2688” noz SIVTOOD @mm@mm 20B000.

Define sample space

“SoTo ﬁJa 0" & JESDINEN

Define “Snow Ball samphng

NJaole AR mcseosm waémé’bw
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M o0 | 01 02 08 04 0% 06 07 08 o8
" o0 | 0000 | 0040 | 0080 | 0120 | 0160 | 0199 | 0239 | oeve | .ooie | .oase
| 61 ! oses | osos | oava | os17 | o087 | osee | os3s | o7 | ovia | o7
02 | o793 | 0832 | 0871 | 0910 | 0948 | 0887 | 4026 | 1064 | 1103 | .114)
08 | 179 | 4217 | 1255 | 1293 | 1331 | 1368 | L1406 | 1443 | 1480 | 1817
.8 1554 1518 LJE28 1664 ATHG 4738 ATT2 1808 1844 A8TY
05 | 1915 | 1950 | ,188S | 2008 | 2054 | 2088 | 2123 | 2157 | 2100 | 2224
0.6 | 2257 | 2201 | 2323 | 2357 | 2380 | 2422 | 2454 | 2486 | 32517 | 2848
07 | 2580 | 2813 | 2642 | 2673 | 2704 | 2784 | 2764 | 2794 | 2828 | 2852
o# | 26881 | 2010 | 2099 | 2867 | 2008 | 3023 | 2051 | G078 | 3106 | 3139
oo | aime | 3186 | 8212 | 238 | a264 | 3280 | a315 | 9340 | ases | 3ase
10| 3413 | 3438 | 3461 | 3485 | 3508 | a83) | 5S4 | 23577 | 3509 | 36210
1 | Dee3 | 5665 | 3686 | 4708 | 3720 | a74m | V70 | ATSO | 3WI0 | 3830
© 12 | s | aees | ases | 5907 | 3025 | 3o4s | 3962 | 2980 | 3987 | 4019
i 1.3 4032 A48 ADES SR A0 4115 43131 AL4T AVE2 4177
1.3 Al v dirg Ad02 A3 A25) A265 437G ARDZ 4306 Ad18
15 | 4332 | 4345 | 4387 | 4970 | 4382 | 4394 | 4406 | 4418 | 4435 | 4441
1.6 A452 ASES AX74 SRS 4445 A505 A515 AUL5 A535 A545
| L7 | 4554 | 4564 | 4573 | 4582 | 4501 | 4509 | 4608 | 4B16 | 4625 | 4630
{18 | 4841 | 4645 | 4656 | 4664 | 4671 | 4678 | 4686 | 4693 | 4099 | 4706
1.9 4718 ATG 4728 1 4732 AT AT44 | ATHD | ATHG | 4761 ATET
20 | 4TT2 | ATTR | ATR3 | 4TSS | 4793 | 4798 | 403 | 4808 | 4Ri2 | 4817
21 | ABZ1 | AB28 | 4830 | 4834 | 4838 | 4542 | AB46 | 4850 | 4854 | 4857
22 | 4861 | 4864 | ABGS | 4871 | 4875 | ARTB | 48H1 | 4884 | 487 | aneD
23 | 489G | 4896 | 4898 | 4901 | 4904 | 4906 | 4000 | 491l | 4913 | 4616
4 gt ] 4922 48925 EET A29 AE3 4932 R LA T I L0 1
25 | 4808 | 4040 | 4941 | 4943 | 4045 | 4046 | 4948 | 4049 | ao51 | 4952
; 2.6 | 4833 | 4955 | 4056 | 4087 | 4952 | 4960 | 4081 | 4962 | 4963 | 4064
| 27 | 4965 | 4866 | 4967 | aven | 4069 | 4970 | 49v1 | 4o72 | ao7a | 4074
L 28 | 4974 | 49TS | 4DTE | 4GV7 | 4GTT | 4O7H | 4979 | 407% | 40HO | 4061
|z | 4981 | 4082 | 4982 | 49M3 | 4984 | 4984 | 4085 | 4985 | 4986 | .49RG |
| a0 | 4987 | 40BT | AORT | 4DAR | ADA | 4080 | 4080 | 4989 | amoo | 4sa0

§
H
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SL.No. 11846 Total No. of Pages :3
VI Semester B.Com.Examination, April/May 2019

(Scheme:RS 2016-17) (Freshers of April/May 2019 &onwards )
PRINCIPLES AND PRACTICE OF AUDITING

Time : 3 Hours Max. Marks : 80
Instruction: Answer all Parts.
DR GNP YVIOR.

PART-A

AR ) ™)
Answer any two Questions. Each question carries 20 marks. [2x20=40]
O3RR)TOW3R DTS, YOZOR. BIRROWER, 20 LOTNSL.

Q1) Define Auditing. Explain its objectives.
“J3, TOZReFI” WERAN? Jg, TOZRCTFIOD YT eBNTI), DWOR.

02) Who is an Auditor? Explain the qualifications rights and duties of an auditor.

S BOIRGE HOBS IRD? B8, BOBRGIT @B, JAD )
3aFaioRy, Q[OR.

03)What do you mean by vouching? Explain the importance of vouching. What
are the points to be considered while examining the vouchers?

Q3,300 DOTTeD? B RETTET TRNABODT), DTOAT TT TBSODIY,
TOEDRTIN NeNIRNLICTOT L90BNTITY)R)?

04)What do you mean by verification of assets and liabilities ? How do you verify
the following assets?

S abégp uma&%@r{@m& 0BT NOTW3eN? 83 ILF0T S TONR
ROLRONGIY, TR TOSCADRONDY

PT.O.
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i)  Good will

PININDIAY)

i)  Stock in trade

308 oM

) Investments

BRBIND
PART-B
PN-W
Answer any two Questions. Each question carries 10 marks. [2x10=20]

03PYTTER TR JINER  wwZoR. TS IFR 10 ©OIND.

05) Whatis computerized Auditing? Explain its Advantages and limitations .

needes 8-S, TOBRFS Q0TTeN? WTWT WPBRONDL T NSNTW,
RO,

06) What is an Audit programme? State its merits and demerits.

“@g VOZREETD TOODF BT DOTIED? WTT WDBRY DI WTOTRERONTI,
SPA.

07) What do you mean by internal check? Explain the objectives of internal check.

0303 STORT NOTTEN? WTWT m%eéﬁ@&b& SP).

. 08) How do you audit the accounts of co-operative societies?

J®FT ROTT e%é TOBREFIONT, Tert BIWWN0Y?

D
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Answer any Four questions. Each question carries 5 marks. [4%x5=20]
CIRRYTRTIR JLY, TJNYR OIOR. TG TJ 5 WO,

Q9) Write a note on Audit report.
I3 TOZRTION B[OROD Wi} 3TES 2TOWO.

Q10)Write a note on Teeming and lading.
T30 W) “eRtdon' Wiy €3TEd WTOWD.

Q11)State the Factors affecting audit planning.
eie§ BOBREFIOD A3eesS e oS e BOINTI, TeITIE.

Q12)Distinguish between internal check and internal control.

BOBOT AT DB S0ZOF AWF OFPINYNTIT désaéxmiaba 3PA.

Q13)Write a note on annual audit.

OXNEB eﬁﬁu TOBREFHOD 1} 3T 2BAWO.

Q14)Write a note on audit working paper.
I8, TOBREFTD TORNFATI TINE w7} LTES 22ToW0.
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VI Semester B.Com. Exammatlon, April/May 2019
(Scheme: RS 2016-17) (Freshers of April/May 2019 and onwards)
ENTREPRENEURSHIP DEVELOPMENT

Time : 3 Hours Max. Marks : 80

Instruction:  Answer all parts.
DR GRS wg’&%.

PART-A
ALY o Tt
Answer any two questions. Each question carries 20 marks. [2%x20=40]

OIRPHTTTR ROES, Y0BT TN, B03ROTE 20 0.

Q1) Explain the phases of EDP. Analyse the operational problems faced by EDP’s.

emcﬁ:née@éoin @&3&@ FOODF BT o“ooémﬁa) QDA @22)563 saoda;ﬁmw?n
aaocbrdrawé 3635@ @mmmw m?bﬂﬁeém DJeAR.

Q2) Define Entrepreneur. Explain the importance and functions of an Entrepreneur.

en>c3?5§)ood3m¢l mémé‘ébf%. emcﬁéa)aoda FOONFNYD Tonw magswab& RO,

03) Discuss various assistance provided by SFCs and NBFCs towards
Entrepreneur.

oo, DEITORD mﬁ@mio TON msoéead BEOTORD xox’éﬁ% emcséésm@ﬁ
EBEDH NG éd@ﬁ@aﬁq 2323F 2.

Q4) Explain the various steps involved in establishing a new entreprise.

20T BRF TR, MADHTY LIRLOBDLT Borv, OO,

PT.O.
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PART-B
WRN-W
Answer any two questions carries 10 marks each. [2x10=20]

CIRPYTTE3R RBB JINER W30, TS TIR 10 ©o3ND.

05) Distinguish between Entrepreneur and Entrepreneurship.

emzséébo woégp erocﬁéaﬁaéeoéoda IRD V= wéaaéxwmcl QNXOA.

06) What is CSR? Discuss the scope CSR.

A DT B0° Q0TTERN9? T3 m&o&m& 2323 20.

07)What is MUDRA? Explain the types of MUDRA loans.
TN, VOTTERN? INTHT ANG WROD AONTR, DB[OA.

08) Explain the factors which motivate people to become an entrepreneur.

BEND LTI dewToned BedeRROT DOBNT), DTOX.

Answer any four questions. Each question carries 5 marks. [4x5=20]
O30 TIVTITR Ty, TINOR G030, TS TIN5 ©OBNY.

Q9) Mention any five successful women entrepreneur in India.
POTITY CHBR0IPNTTE 0T et WHITITTR, S92

-
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Q10)Explain PRC -Provisional Registration certificate.
20308 300038 TSeo TZBI, DTOR.

Q11)Write a note on SIDBI.
SIDBI 2R} 3338 208000.

Q12)Write the Entrepreneural role played by RUDSET.
NTSeL BTBeEoNY DT FeF W, TEWO.

Q13)List out the qualities of a successful Entrepreneur.
ODTR, YVTENOD RN, Te=Ra.

Q14)State the essentials of a project Report.
0T OBetF S VBFTING w1} 280W0.
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VI Semester B. Com. Exammatmn, April/May 2019
(Scheme: RS 16 -17) (Freshers of April/May 2019 and onwards)
COMMERCE
Business Taxation - IV/GST and Customs Duty (2017-18)

Time : 3 Hours Max. Marks : 80
Instruction:  Answer all the parts.

DR {RNNYNRR LVIOX.

PART-A
N—

Answer any 2 questions. Each question carries 20 marks:
C3pRTe 2 JINOR WwZdA. B TIR 20 ©oznb:
Q1) From the following particulars, compute Assessable value and customs duty.
1) Cost of machine imported $50,000
2)  Packing charges $500
3) Commission paid to brokers @ 5% on cost
4) Buying commission paid by the importer $250
5) Design and development charges outside India $3,000

6) Technical fees paid $2,500
7)  Ocean freight $3,000
8) Insurance premium $2,000
9) Materials supplied by the importer ¥2,00,000

10) Transport and transit insurance from port to,

factory . Z80,000

PT.O.
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11) basic customs duty 10%

12) Social welfare surcharge 10%

13) IGST @ 18%

14) Compensation Cess @ 20%

15) Notified exchange rate: ¥70 per $.

B FINS JT0HENYOT 30NN WwPTRISI m’a@é mag RCTI z’oosaiab&
FOTLBOWO.

1) <DTT oDosE 283G 50,000 woTE.

2) o’ kY 500 @wOT,

3) @Res0’ 1 QBT Bepe 0HoZH BSoD Be. 5 T,

4) 00 B0eS BRTTTT TOWSAT BERY 250 @OT .
5) 2P03T RTINS &)mes?v’ m@i @2@%@@ d% 3,000 wooT.
6) T08F Y, TPW/SAT) 2,500 WOT'.

7) ®ONT Dornoedd da;d 3,000 wmooT .

8) QT 303 2,000 wmOT .

9) SRNTHITD TRTRT FWNNG &SPY, ¥2,00,000

10) 20TOVOT FoATEIN oML B, D DE 280,000,
11) VR AP 0T 10%.

12) RuPm 3090 eSS0 10%.

13) LGS.T. 3e. 18.

14) TOTT BFF 20%.

15) Rrwd QoD T3 1 oo’ E70.
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02) Venkatesh Associates Bengaluru supplied certain chemicals to Raghulal Mysore
on 10-12-2018, and further information given below:

i)  Supplied 50 tons of chemicals @ ¥40,000 per ton (excluding taxes)
ii)  Freight charges ¥1,80,000.

iii) Packing charges ¥1,10,000.

iv) Weighing expenses 320,000.

v) Cost of instrument to produce chemical ¥3,10,000.

vi) Insurance upto the place of delivery ¥50,000.

vii) Loading and handling charges ¥30,000.

viii) Cost of pre delivery inspection paid by Raghulal on behalf of supplier
¥12,000.

ix) Subsidy received from state Govt. ¥50,00,000.

x) Date of invoice issued 10-12-2018.

xi) Due date of payment 25-12-2018.

Compute the value of taxable supply and GST payable @ 18%.

B30oNYROST J03e3er* wRpeaodeeF T 10-12-2018 TOTR daémas
ovMGploalierniela madm SROORRIN DB, QST 83 FSNI maoéodaabo,&
QeRTI:

) 50 &3 ComPchIB BeT B, TS WS 40,000 (307 S&3)
i) morwes a3 €1,80,000.

iif)  oRBon’ 3 ¥1,10,000.

iv) 2038 $Y 120,000.

V) TompodRT YLIDRRED 5eFn evBEsee &5 X3,10,000.

vi) QITH %@daﬁéﬁs QR 50,000.

vi) P8F DB IWFBTO 32 ¥30,000.

vii) TRTFEIOS TOWON TTHLRS® TBEIT DITHD TRRE JTWRTD
dzZ%lZ,OOO.

iX) 0o ATFTHOT WRT FR®  ¥50,00,000.
X) ROB B FRBRT DJ00F 10-12-2018.
Xi) TR @O HJ00T 25-12-2018.

301N WPTTI mq@ wsaeéwm& waé_ag 3e. 18 03 Toz8R3eFTT FOB
Xewo é@rﬁoﬁoﬁaﬁ1 6@@%.

2.
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03) a)  Mention the conditions for claiming input Tax credit.

BQTTREF BON WIFERN TIBELL JTOI JODNER, 39A.

b)  Mr. Madhu, a supplier, gives the following details. Compute GST payable.

Sale Outward Supply Inward Supply

3 <
Intra-State 12,00,000 5,00,000
Inter-State 4,00,000 1,00,000

Opening Balance of Input Tax Credit:
IGST: %40,000; CGST: €30,000; SGST: £70,000
The supplies are exclusive of GST @ 18%.
D) YIFEF 301 WD FeR0 TRV [T RORNER, 39A.

Q) N, DDPTID & LR &raégpaas ARONPOT TO=STICTT RO
Hewo :a’tbr’\’oﬁm)ol @5&@%.

QFOD TR0 airadéé €9 w8 TRTE (%)
o*oasédmfﬁs 12,00,000 5,00,000
Clelcle) epl 4,00,000 1,00,000

QI TNEF 30N WINOD BTOYT de;

IGST: 40,000

CGST: 330,000

SGST: 270,000

3 edI TegBod Be. 18 T RIB Hewmw SORODIY, LIRRORY.

04) Explain the Registration procedure under GST.
AT Fewo 30R0NYT Swecowsed DOTTJIY, DWOR.




21775/21770 M-5647

Answer any 2 questions. Each question carries 10 marks:

cmRTe 2 TIROR CuIok. Te TR 10 wosn:

05) Write any 10 reasons for prohibition? Importation & Exportation by Central
Govt.

300, RFDFCY SR T8 TFNYR, JREOILY QBT ABRIFPYTRTIR
TB) FOTEONT), EFA.

06) Write the contents of GSTR-2.
GSTR-2 SYE ©Oo3NER, 2380W0.

07) Mr. A sold a product intra-state to Mr.B compute the value of supply from the

data given

a) Input materials purchased ¥50,000 and IGST paid on it Z9,000.

b) Components purchased from a supplier for 15,000 and GST paid ¥5,400.
c) Subsidy from Central Govt. £10,000.

d) Labour cost €20,000.

e) Administrative overheads X1 S,OOO.

f)  Profit charged @ 10% on the cost of production.

g) Discounts allowed to customers as per the terms ¥5,000.

h) Packing expenses incurred by the supplier ¥4,000.

i)  Freight charges paid by the customer ¥7,000 on behalf of the supplier.
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‘A’ TR0 ComBRINS ‘B’ T[OR 2,000 YUBT D, FITOW [PRTT. 8

3INT B&EWOT B3 BPOTI, STH08.

R)  AWEF TN, DOLLAT ¥50,000 B aTT e o328 IGST
%9,000.

W) TRTFOOTO0T PEBNY DOCO X15,0008 =3 GST w0383 5,400.

%) $eogq ATFSH0T IWA ¥10,000.

B) wWES Fyg 20,000

Q) BEYIZF Foeed 328 ¥15,000.

RF°)YVBVFTD da;p e Je. 10 3 @03 REDRTHR.

B) wTOW BION MOBION AeRT Aeed 5,000.

325 )TRTBTITOOT YO TRBONT SDF ¥4,000.

©035°)TRTBIO0T TTToN MOBID TODSAT FOMOLS 23 X7,000.

08) EXEL Pvt. Ltd. is aregistered Input Service Distributor having HO in Bengaluru

and has 3 branches at Surath, Salem, and Pune. All the units are operating
during the year and their respective Input Tax Credit as follows:

a) GST paid on services used for all the units - 15,00,000.

b)  Turnover of all the units are given below:

Unit BangaluruHO|  Surath Salem Pune Total

Turnover| 15,00,000 [10,00,000 | 5,00,000 | 10,00,000 | 40,00,000
)

Distribute the input tax among the units.

RIS (D) OWEFT 20T YWEF Feaw DITIRH 30NENOI) THo
B30 BRODT 3 BN BRTF, Bewo I DBONYB. TFF TR
DTY FTLIND ToODNF ATF LAET), FOWORAT QLT BON %D DWTNSH
3SNT08:3:

R) AP FRIAW AT Fedne FedT GST Tomsacd T 15,00,000.
D) QU PIAY 003 88 FENT0ST:

T3 XN T3 RRTS | Fewo a”o% ' 283
2oo0e3(%)(15,00,000 10,00,000 |5,00,000 |10,00,000 |40,00,000
FETNPR AEF 30770, T0WS JPA.
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PART-C
>N-2

Answer any 4 questions. Each question carries 5 marks:

c3mRyBe 4 IINROR wIdR. BE TER 5 wosned:

Q9) Determine the time of Supply of the following cases with reasons.

Event Case 1 Case 2 Case 3 Case 4
Date of Removal of goods | 28-11-2018 [28-11-2018 28-11-2018|28-11-2018
Date of Invoice 10-12-2018 [10-12-2018 |26-11-201812-12-2018
Date of Payment 26-11-2018 |29-12-2018 | 2-12-2018{26-11-2018
Date of Payment _

entered in the books 6-12-2018 | 6-12-2018| 6-12-2018|22-11-2018
8 3PN ZodLrnen TRT3 xmomm‘{ 3000 B&3 APEOX.

30% Fexe 1 Fex® 2 Bex® 3 Bex® 4
[OBD 3T DJ00B 28-11-2018 | 28-11-2018| 28-11-2018|28-11-2018
ANTRTL DT0OT 10-12-2018| 10-12-2018| 26-11-2018| 12-12-2018
ToWE QJ00T 26-11-2018 | 29-12-2018| 2-12-2018|26-11-2018
e%é DRTTY TS

T0DRT DZ0T 6-12-2018| 6-12-2018| 6-12-2018|22-11-2018

a)
b)
c)
d)
e)

Freight paid $3,000

R B I Exchange Rate

Insurance paid $1,000

¥ 71 per $.

-7-

C.B.L.C. notified exchange Rate 70 per $.

Q10)Find the Assessable value of materials for customs duty.
F.O.B. value of materials imported by Air $10,000.
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AEETR AOTFYN TOTPNNY BORR TR BPOBI, BORELBONO.
D) VOB RAFTY SNwon NG CIF 3P, $10,000.

D) AW [e3 WAy $3,000

A) D wemsaTy $1,000

@) R.B.L& Q=00 T 1 wooo R T 71.

49) CBIC.3 3083 Q5000 T8 1 @meooh 70.

Q11)From the following details, calculate customs duty.
a) Assessable value £25,00,000. |
b) Basic customs duty @ 10%.

c) - IGST payable @ 12%.

d) Social welfare surcharge @ 10%.

e) Safeguard duty @ 30% of Assessable value.
FINT BR&ECNOT RETID ROTBITZ, SFT0s.”

Q) BONRN WIBEOT a“ﬁ@@é $25,00,000.

Q) VRO AeTIR0T Je. 10.

%) IGST 3erlesonsy 3e. 12.

&) ABPH sUvLe Wededr Be. 10.

Q) U3mogs A0T I0NRRITET BPOB Be. 30.

Q12)Mention different types & customs duty?
AETT AOTT VAT TFOONYR, 8927

Q13)Write a note on [.S.D.
D.F.R. Wi E8TEd 20ToW0.

Q14)Mention the steps in filing GST Returns.
GST OB FNYR, AQAT TOINIR, S9A.

EEE
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QAQ -
SL.No. 11848 Total No. of Pages : 8

VI Semester B.Com. Examination, April/May 2019
(Scheme:RS 16-17) (Freshers of April/May 2019 & Onwards)
BUSINESS STATISTICS

Time : 3 Hours ' Max. Marks : 80
Instruction:  Answer all parts.
DR GRANVNL LVIOX.

PART-A
WN—

Answer any two questions. Each question carries 20 marks: [2x20=40]
C3PRTOTTR HTE JJNOR LOZ0R. Tde IJR 20 WosTish:

Q1) Explain the meaning functions, advantages and limitations of statistics.
ROATWIVAT OBE TOORFNRE OVBTROND B NSNFI, AWOA.

Q2) Calculate the mean, median and mode from the following data.

Mid-values Frequency
115 6
125 25
135 48
145 72
- 155 116
165 60
175 38
185 22
195 | 3

PTO.
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FINT BIWOBROTW XTORO, NIy TN WIROINTI, FOWEBADD.

DI 3SR SN
115 6
125 25
135 48
145 72
155 116
165 60
175 38
185 22
195 3

Q3) Calculate the Karl Pearson’s co-efficient of correlation from the following
data and interpret the result:

Marks in Marks in Statistics

Mathematics | 20-30 | 30-40 | 40-50 | 50-60 | 60-70| Total
15-25 5 9 .3 - - 17
25-35 - 10 25 2 - 37
35-45 ' - 1 12 2 - 13
45-55 - - 4 16 5 25
55-65 - - - 4 2 6
Total 5 20 44 24 7 | 100
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YN BIOBN0T ToE QOPTD® TRV FIBROWOZ ROEegES), FOBELRONO

ned3cY RoaFITY BAR ©OTR

BT odnsd | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 2.3,
15-25 5 9 3 . = || 17
25-35 . 10 25 2 = (157
35-45 = 1 12 2 = || 15
45-55 - - 4 16 5 |25
55-65 - - - 4 2 6
2,630 5 20 44 24 7 1100

Q4) Construct Fisher’s Index Number for the data given below and show that'it
satisfies time and factor reversal tests.

2005 2010
Commodity | Price |Quantity Price |Quantity
A 18 130 22 135
B 16 | 95 25 100
C 35 42 40 46
D 8 18 12 20
E 108 10 110 12

39 BRYDT BI]WOBROT HHOT BS RELROIII) Tud I €T T
OB VT B W03 BT B0 TOIRYR), F& TRWIT DO

30001.
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2005 2010
BN | BS | ZIeee 8BS | TReo
) 18 130 22 135
A 16 95 25 100
A 35 42 40 46
& 08 18 12 20
Q 108 10 110 12

PART-B
AR ™)
Answer any Two questions. Each question carries 10 marks: [2%10=20]

BRPHTRTAR TR BIRER wwIoR. Bde T3R 10 wosrish:

05) Ten individuals are chosen at random from a population and their heights are
found to be (in inches): 63, 63, 66, 67, 68, 69, 70, 70, 71, 71. Calculate the

value of ‘t’.

2.0 usxoﬁémod 10
([OWNYY) 88 FIB0WOST:

63, 63, 66, 67, 68, 69, 70, 70, 71, 71 t’ 83@30338534 6356@8.

06) Calculate the cost of living index number by using

a) The aggregate expenditure method.

iﬁ@mol BN eoﬁsﬁm@cﬁ% 93T e

b) Family budget method for the year 2018 with 2015 as the base year from
the following data:
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Quantity Price per unit

Commodity | (inunits) 2015 | 2018
A 100 8 12.00

B 25 6 7.50

C 10 5 e

D 20 48 52.00

E 65 15 16.50

F 30 19 27.00

N3 TBOBOOT 2015 BROTTE DGO 2018 Je T[T,
Q) WY, W APOS TONR
D) TRLNOVT SODTON DEOTNTIY, eoTodeeNd BeRI WY RRUTDOTIR,

@G&m%:
TR Tee PIT BS

Irisd  |(@esned) | 2015 | 2018

A | 100 8 [12.00

B 25 6 7.50

C 10 5 5.25

D 20 48 |52.00

B 65 15 |16.50

F 30 19 |27.00

Q7) Calculate the standard Deviation from the following data:
Marks more than: 0 10 20 30 40 50 60
Number of Students: 71 63 51 34 20 11 4
3UNT BTOBROT 3%, DWOTOHT, SFHVs:
DOBNRLD TV 0 10 20 30 40 50 60
ompEne Rosk: 71 63 51 34 20 11 4
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08) From the data given below find, the two regression equatlons and estimate the
marks in statistics when the marks in economics is 30,

Marks in Economics Marks in Statistics
25 43
28 46
35 49
32 41
31 36
36 32
29 31
38 30
34 33
32 39

3SR VBT 0 SONOT TR 003 TNCBTLNGD D eﬂmechcD
03N 30 3 I03T Nossaaaxcs @oﬁm?so EHOTIVTR mmsd

LTETR cj QOB HOSoRZOT c:S LOBNL
25 43
28 46
35 49
32 41
31 36
36 | 32
29 3
38 : 30
34 33
32 39




